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S2A-ZH () - HRAY - BES Oif &4 %Ei Hnsz
=T 2E K (RH) 36,000 30,000 6,000
301 Y AR 36,000 30,000 6,000
11 IR & 2 36,000 30,000 6,000
©JE MAHEE It X 72,000,0002 *50% 36,000
IRIE AR IE 20D 110,000 82,500 27,500
402 QI XHEO0IA 110,000 82,500 27,500
01 QIR A2 110,000 82,500 27,500
OERIE AR IS 2007
550, 0002 *400A! *50% 110,000
SA R FIAS DY X 22,500 52,500 30,000
402 DIZHRFEO0I A 22,500 52,500 30,000
01 QIR =AY B 22,500 52,500 30,000
OSA Lig HIIAA DH
15,000, 0002 %341 *50% 22,500
S &5 1Y H2W & 20,000 20,000 0
402 DIZHRFEO0I A 20,000 20,000 0
01 QIR =AY B X 20,000 20,000 0
o% =ot g A2 &X
20,000, 0002 %27 4 *50% 20,000
HAL ®IIAE &3 8,000 8,000 0
402 DI RFRO0IE 8,000 8,000 0
01 QIR =AY B X 8,000 8,000 0
OHA FIIAIE &3l 8,000, 0002 24! x50% 8,000
HALE BIIAIE & X 20,000 15,000 5,000
402 DIZHRFE0I A 20,000 15,000 5,000
01 QIR =AY B X 20,000 15,000 5,000
OHALE EIIAA AKX 500,000 *80CH *50% 20,000
OIRTE AAMOIE X 75,000 0 75,000
402 Y2 XHEO0IA 75,000 0 75,000
01 QIR A2 75,000 0 75,000
OOIRXE QIFHIOIE X
25,000, 0002 %6 4 *50% 75,000
HA BZHS L UHSSHAE X 40,000 0 40,000
402 DIZHRHE 0 & 40,000 0 40,000
01 QIR =AY B X 40,000 0 40,000
OAHAMEBANL(RES AlE) X
40,000, 0002 %27 A *50% 40,000
YE=IH ANE XSO DA X 50,000 0 50,000
402 DI RFRO0IA 50,000 0 50,000
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OLEsIH Alg Xsetel WA X
10,000,000 *107H £ x50% 50,000
Sl 243 684,497 772,212
Jl| 99,900
< 86,076
s 498,521
SHHERE IIE2XM NE 22,000 22,000
307 gl2tol & 22,000 22,000
02 IZtE S AHE L 22,000 22,000
OJ=E=Ekr EsHelAd dilg K&
1,000,000& 122 12,000
ON=EEr SsXHAME 22N 7 10,000
=2 MelAd X3 54,400 54,400
J| 27,200
< 8,160
s 19,040
402 RI2EX=20| A 54,400 54,400
Il 27,200
= 8,160
s 19,040
01 It 2 AL B X 54,400 54,400
OJNEE=Mel NE0HYE) X2
136,000, 000& *40% 54,400
J| 27,200
< 8,160
i 19,040
dEE NS XA 9,600 9,600
J| 6,000
< 1,080
i 2,520
402 BI2FX=0| M 9,600 9,600
J| 6,000
S 1,080
s 2,520
01 It 2 AL E X 9,600 9,600
OFEE REIMWH X< 9,600
J| 6,000
< 1,080
[ia 2,520
MY HEE AIE K& 35,700 35,700
J| 10,200
< 7,650
s 17,850
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J| 10,200
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01 QIZEXIE2AIE 2 X 35,700 35,700 0
OWHI HEE Al XI& 17,000,000& *x32|*x70% 35,700
J| 10,200
= 7,650
= 17,850
OHH| AL H| X & 113,000 113,000 0
J| 56,500
= 16,950
= 39,550
301 et A= 113,000 113,000 0
J| 56,500
o=} 16,950
= 39,550
11 J|EtE A S 113,000 113,000 0
O YA ZHl A& 200,000 *565ha 113,000
J| 56,500
& 16,950
= 39,550
EASIE A F X HA (Z=H]) 59,400 33,600 25,800
&< 17,820
= 41,580
307 2iz2to| & 59,400 33,600 25,800
== 17,820
= 41,580
02 QIZHA AAIE E X 59,400 33,600 25,800
OFA=IF LF LA WA
5,000 19, 800kg*60% 59,400
& 17,820
= 41,580
FosIF SFEX OHA 78,000 45,000 33,000
307 2Iz2t0| A 78,000 45,000 33,000
02 QIZHEAAIRE E X 78,000 45,000 33,000
OFA=IF 2o F X NS (XA
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=y £2X&8M XN (&H]) 34,720 15,000 19,720
= 10,416
= 24,304
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02 DIZFEAAIRE 2 X 40,000 40,000 0
OIEE2L =28 N
160& 500, 000kg*50% 40,000
EANAIE SAMLEASE (EH|) 21,000 7,000 14,000
& 9,000
= 12,000
402 SI2FXHE0| ™ 21,000 7,000 14,000
o=} 9,000
= 12,000
01 QIZEXIE2AIE 2 X 21,000 7,000 14,000
OFAAE EHIMNLAIY 30,000,000 x70% 21,000
& 9,000
= 12,000
SANAIE SHMNL 30,000 30,000 0
402 SI2FXHE0| & 30,000 30,000 0
01 QIZEXIEAIE 2 X 30,000 30,000 0
OFSAMAIAE SHHIMNE ALY
600,000 *100CH *50% 30,000
ol 220 WH ALY 50,000 70,000 A 20,000
402 BI2H X201 M 50,000 70,000 A 20,000
01 QIZEXIE2AIE 2 X 50,000 70,000 A 20,000
©O1NM 22|J WH AtY
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HEH IR XS 10,000 10,000 0
402 SI2vXHE0| ™ 10,000 10,000 0
01 At XSAIE E X 10,000 10,000 0
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101 Q124 H| 14177 14,162 15
04 JI2ZtHIZ2 2 NEES 14 177 14,162 15
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402 RI2EX20l A 12,500 0 12,500
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01 At 22l 21,260 21,260 0
O et==EH| 21,260
Oog9 & dgd80d sENE MH
3,000 *500F x4 3 6,000
Oazd 2 224 Al 7,000& %1804 1,260
OgeER 842 U UAT X
50,000& x70H 3,500
O33Yd =2A &S|
500,000& x1H 500
OUFMEAMS B2 24T HE
400,000 =254 10,000
02 =24l 120 0 120
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04 JI2ZtHZ22HEE =+ 7,500 0 7,500
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201 et 16,400 16,400 0
01 At 22l 10,000 10,000 0
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< 12,915
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tsgdests ¢ 367,996 507,660 A 139,664
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< 58,925
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= 156,069
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01 =8l 367,996 507,660 A 139,664
OUZFAL & JIME FHAS 7 367,996
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206 M = Hl 48,000 48,000 0
== 14,400
= 33,600
01 X2 H| 48,000 48,000 0
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206 = Hl 31,250 31,250 0
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oOngA=Il XA 3,500, 000& »3CH x50% 5,250
O NEI X& 5,200,000& »3CH x50% 7,800
HEHAANE HEE=H X (KHA) 5,000 5,000 0
301 et a3z 5,000 5,000 0
MIIEE43 5,000 5,000 0
O&EYIIIE HEZEEH 5,000& x1,0005 5,000
A2 24 N 400,000 400,000 0
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s 40,000
301 gt d= 400,000 400,000 0
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< 40,000
s 40,000
NJIEEd=s 400,000 400,000 0
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= 320,000
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s 40,000
TSRS Ol = AL 210,000 225,750 A 15,750
= 100,000
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s 80,000
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= 85,000
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= 85,000
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OHXI M2 B0l A Ol == At
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= 14,256
< 3,992
e 10,264
307 21201 A 28,512 29,700 21,188
= 14,256
< 3,992
i 10,264
02 HAFAAHEX 28,512 29,700 21,188
OXERHAAMEII(GPS)EXZE XA
9,900 *480CH 123 *50% 28,512
= 14,256
< 3,992
[ia 10,264
greisE 8 ME+g 8,375 12,250 N 3,875
201 L2l 500 1,500 21,000
01 At 22l 500 1,500 A 1,000
Ottd=sE SSH 82 & &% MH
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206 M= Hl 2,375 4,750 N2,375
01 =4l 2,375 4,750 N2,375
OS2 S5 M=+ 4,750 *5004 2,375
301 et A3z 5,500 6,000 A 500
MIIEE4d3 5,500 6,000 A 500
OtteissE S8 UHd=s=2 11,000& 5005 5,500
b= WS X At=2tel 48,000 0 48,000
= 24,000
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01 AP 22| d| 24,000 0 24,000
OHE Xl AIZE 22l 29| 8,000,000 304 & 24,000
= 12,000
& 3,600
= 8,400
206 M = dl 24,000 0 24,000
= 12,000
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= 8,400
01 X2 H| 24,000 0 24,000
O0HE2 X AIZE2el M+
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= 12,000
= 3,600
= 8,400
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= 29,000
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& 27,720
= 64,680
301 et A= 92,400 92,400 0
&< 27,720
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11 JIEtE &2 92,400 92,400 0
O2x9 ¢ 1,100,000 x7H ~12& 92,400
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SO/ AL 2 (XA 16,200 16,200 0
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02 324 H| 3,000 3,000 0
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12,000& =3, 3504 40,200
CELS] SHHADHEY HYAE 7Y
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3,000& x7,0005 21,000
O ==It PRRSH A 2 ¢ 1,910&%31,5005 60,165
P Lb2e| EFdoE ZMHEFY 21,000 21,000 0
201 Ler2dy 1,000 1,000 0
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< 7,200
s 16,800
DEENXNES MIIsES 10,000 9,000 1,000
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s 5,000
206 M= Hl 10,000 9,000 1,000
= 5,000
[ia 5,000
01 =4l 10,000 9,000 1,000
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